smseg 2HITETTE

7 i | N ES ]
= ® HERE *$§'HE123456 =
= #
KNI -EEBAT(ERBEEFE) £ |[X X X X X X X X
& AE-RESAT (£ BEFE) £ |X X X X X X X X
T |EHM(2) H#FRH(2) BHZE)
\ 4
g (X772 RA=FkEH 2E | 5% 1 2 3 4 5 6 7
EiERER ftt X &¢ 1 2 3 4 5 6 7
K|LHR—2HER EiERE BEDRRR(12) PEREG) | mz 28427
12 |# 5% 1 2 3 4 5 6 7
w2 3 X % 1 2 3 4 5 6 7
x [ FEREIER XADOQOOIDD 12 |# Bt A1 A2 A5 K6 A3 A4 K7
TRA)—rDREFZFIZLDIABREFODTREESE (3, 48KH) 52 3 | x Bt A1 K2 RS K6 A3 K4 A7
= - A
| BE-AD % £ |x B 123 4567
T
<EEE=Z0DH>
A | <&BHKB>
1 |EEERGEREER L -
X HR=2ERA (&) o2 2 |[x®12341L6
EBREBAER =2 £ |[x % 1 2 3 4 5 6
* | ZEEXZE(12) 12 |X X F T F F
BHEIE QKR 3 X 3% 1 2 3 4 5 6
(B 12 |[x X T 57 77
=| [RE-FFRAEG) % 3 [x#% 12345 6%#%
t+| |
| S 3E K2R (BRDHER TER)
< 12 | X X T T T 7T
Eikaro—i®@ 3 X %21 2 3 4 5 6
x| | RARRE 12 [x x 7 7 7 7
vLHR—ZEME (3) L 3 |x & 1 2 3 4L 6
ZEBEHFRIFEREE XS, ROV FRA0ODERE £ |[x x 1 2 3 4 5 6
£ 25 3R A1 Bl B R 2 \ "
N EREEEET THRRE o [ £ |x®123456
£ |<XKEEEB>
T
E 2 3 KATHA S BR
\ 4
USRIV 12 | 58 1 2 3 4 5 6
A B KATEAEGER wmoronld | X X X X X X X %
R L 12 |# 5% 1 2 3 4 L 6
LHR—ZFiEE (12) = 3 X X X X X X X X
FEAFHD BEREIAS L LR -
EEXXARGHE ZXAFITO 12 |x x ZHHHXFTT
RIZEASH 3 |xxFFFFITF

B



